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Domain: Operations and Algebraic Thinking
1.0A.B: Understand and apply properties of operations and the relationship between addition and
subtraction.
Calculator Availability: No

o

Which equation has the same unknown as 19 — 6 = []?
Oa[1-6=19
Os6-[1=19
Oc[d=6+19
OO0 64+[=19

Alignment: 1.0A.B.4: Understand subtraction as an unknown-addend problem. For example, subtract
10 - 8 by finding the number that makes 10 when added to 8.

Developing a deep understanding of the relationship between addition and subtraction is a crucial area
of focus in grade 1. Students need to understand that problems with an unknown addend are also
subtraction problems. This takes their knowledge of the relationship between addition and subtraction a
step further than understanding subtraction as the reverse of addition. This new comprehension
supports understandings of fact families and properties of operations. In this item, students must
recognize that 19 — 6 = [ is equal to 6 + [1 = 19. Subtraction is typically more difficult than addition for
students, but with a deeper understanding of the relationship between the two, students can work with
addend-unknown problems as subtraction problems.

Coherence: This standard builds on understandings of the put-together and take-apart problems that
were introduced in kindergarten.°*A2 Flexibility with addition and subtraction problems leads to
computational fluency°*“® and supports computation with greater numbers.2N8T-¢. 2N8T-B ynderstanding
subtraction as an unknown-addend problem also helps students in middle school when they add and
subtract with negative numbers.”N>A1

Rigor: This item attends to conceptual understanding, as students use their understanding of the
relationship between addition and subtraction to find the answer.
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Answer Key:

Which equation has the same unknown as 19 — 6 = [?

ord-6=19
Os 6-[1=19
OcOd=6+19
@0 6+[]=19

All content linked to within this resource was free for use when this resource was
published in August 2020. Over time, the organizations that manage that external
content may move or remove it or change the permissions. If the content is no
longer available, please email info@studentsachieve.net.
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